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Mathematics Mega Quiz for RRB NTPC (Solutions)

$1. Ans.(b)
Sol.

15
cosf=—
1

7

sin® =+/1—cos?d

$2. Ans.(b)

Sol.
X

26

¥ Z
xz? = yz2 + (2/6)2
xzt—yz? =24

[xz+vyz) x2=24

xz+yvz=12
xz—vyz= 2
xz=17
yz=5

sec ¥ +tan x

7 n 5
2\."'3 2\.‘%
6

— — e
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S3. Ans.(b)

Sol.

A
B - C
AB:BC=2:1
AB=2x BC==x
AC? = dx? + x?

AC =+/5x
sin A+ cot C

X x

ﬁx 2x

_2+45
=%

$4. Ans.(a)

Sol.sin 21° =2
Y X
sin(90° — 69°) = —
y

x
cos69? = —
y

sin 69° = /1 — cos? 69°
y
P

= zec 21° —sin 69°

cos21° =

= 310 — 5in 69°
cos

N
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S5. Ans.(d)
Sol. 7 sin a = 24 cos a

24
tanoa=—
7

H=+576 + 49 = /625 =25
cCos Q=

5eC =

SERE

ldtana—75cosa—7 seca

24 7 25
=14 ——TF5X ——7 X —
7 25 7
=48-21-25=2
$6. Ans.(c)
Sol.
sin &
=3sinB
Cos
5 1
cos = —
V3

1 2
sinf = |1——= |—
3 3

sin B —cos? B

. 1 _ 1
3 3 3
$7. Ans.(c)
Sol.
sin@ =2
b
Vb2 —a?
cos = ——
b
b TEST SERIES
sec@ = —
b* — a? Bilingual

sec@—cos B

__b _VpP-a RRBNTPC
Vi—a b

b bt g PREMIUM

bVb? — a2 100+ TOTAL TESTS
TR & Validity : 12 Months
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$8. Ans.(a)
Sol.

secB+tanB=2++/5
1

V5 +2

secfl —tand =

=y5-2

2secB =245
sec 8 =1+/5
cos B =i
V5
sin @ =i

Vs
ind + a 2+1
sin cost =——=+—
V5 45
3

V5

$9. Ans.(c)
Sol.

cot A+ cosecA=3

1
cosec A — cutAzE
. 10
2 cosec A= <
5
cosec A = <

] 3
sin & ==
5

$10. Ans.(c)
Sol.

cosecd—cot @ =

cosec8 +cotB =

P R [

2 cosecd =

+
w1 | b

[ I I [

w

2 cosec =

=
=

53
cosecd=—
28
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S$11. Ans.(d)
Sol.

A—T75% — j—wnrk — 18 days
1 work — 24 days
B — 2504 — ? work — 12 days
1 work — 48 days
A 24 2

48
B 48 1
75% of work = % x 48
=36

3

A+ B, will complete 36 work in = ?E' =12 days

$12. Ans.(b)
Sol.
Area of 4 walls of cubeid = 57 m?
2(l+b) x h=57
2(1+b)x3=57

55+b=2
2

55+b=95
b=4cm

$13. Ans.(d)

Sol.
Discount 9 = 30%
30 3 - Discount
~ 100 10 — Original
(10 - 3)r = 1050
7r— 1050
1r— 150
10r — 1500

5.P at 159 discount

17
= 1500 % —
20

=1275Rs.

S$14. Ans.(c)
Sol.

Fourth Proportion — x
336 _ 161

288  «x
161 x 288

336
x =138

RRB NTPC
2019

COMPLETE KIT

Test Series | Books | eBooks

100+ Total Test
1 English Printed Edition Book
eBooks
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$15. Ans.(b)
Sol.

First number divisible by 8 = 16
Last number divisible by 8 — 88
88=16+(n-1)8

72=(n-1)8

9=n-1

n=10

Sum==[2 16 + (10 - 1) x 8]
=5[32+72]

=520

Average = B0 — 53
10

$16. Ans.(a)
Sol.
Using Alligation
15% 8%
12%
4 : 3
Quantity sold at 8%

3
=630 X —
7

= 270

$17. Ans.(d)
Sol.

500 ofa="h

1
—a=05b
2

b% of 40 =% x 40
=0.2a

$18. Ans.(c)
Sol.

Speed including stoppages = 50 km/hr
Distance travelled in 1 hour = 50 km

Time taken by train to travel 50 km at 120 km/her

50
120
5

= — ¥ 60 minutes
12

= 25 minutes

Train stopped per hour
=60-25

= 35 minutes
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$19. Ans.(c)
Sol.
SI ClI

1#year 2000 2000
2%year 2000 2180

180
Rate 2 = 2000 * 100
= g%

$20. Ans.(a)
Sol.

$21. Ans.(a)
Sol. Using Alligation

5% 8%

6%

$22. Ans.(c)

Sol.
Milke - Water

I* Container -+ 5 - 3
Milk === 0.625
Water === 0.375

Milk : Water
II™ Container — 2 - 1

5

I = |

3
Milk - Water

" Container = 3 - 2
Milk === 0.6
Water = E =0.4

Milk : Water
IV "™ Container — T - 4

Milk = — = 0.66
11

Water =+ = 0.33
11

In Container = 3rd
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$23. Ans.(a)

Sol.
Add : Water

25liters = 4 - 1
Acid =2 x 25 = 20
Water =§x 25=5
New Acid : Water

20 : g8

5 : 2

S$24. Ans.(d)

Sol. Loan Amount : Total Interest=5: 2
Principal — 5
Interest for 1 year = 2
Interest for 5 year = 10
EXrx5
! 100
rio = 409%
0 2

100 5

P: 5:2/5
= 2

1":
25 :

$25. Ans.(c)

Sol. S.I for 2 years
15600 x 10 x 2

B 100

=3120Rs.

Principal after 2 years

=15600+ 3120

= 18720 Rs.

5.1 for next 2 years
18720 x 10 x 2

B 100

=3744

Interest at the end of 4 years = 3744 Rs.

$26. Ans.(d)

Sol. Case |
_PXSKr

100
r=200p
Case [I
op = Pxizxr

100

100
— =7
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S$27. Ans.(b)

Sol.
15x20x8=20x%x12 = x
x =10 hours

$28. Ans.(b)
Sol.
9x20=xx15
x =12 taps

$29. Ans.(d)
Sol.

Efficiency — Raj + Ram = ﬁ

Efficiency — Raj = i

Efficiency Ram = L2

10 12
_6-5

)

1

60

Ram will take = 60 days

$30. Ans.(c)
Sol.
LetC.P =100
S.P=90
90 + !
—x=x
2
1
90 = —x
2
x =180

C.P= 100, MP = 180
c.p 100 >

—_— ey — =
M.P 180 9
C.Pis gof marked price.

_A ELLE]

publications
A COMPREHENSIVE

GUIDE FOR
RRB NTPC STAGE-1& 2

Upeful for Chark | Lavel-11 Ministarial & olated Categeories and Othir Exams
(English Medinm)

Full-Length

4500+

Questions Practice

MCOs of General
Awarenass,
Beneral Sclence Detailed iy
5 & Computer Explanations
for Each & Every

Previous Quisation

Years'
Papers

o
adda v e e

9 I www.bankersadda.com www.sscadda.com

www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-books/2186/A-Comprehensive-Guide-for-RRB-NTPC-Group-D-ALP-&-Others-Exams-2019-English-Printed-Edition-NTPC-Special

